Probability
e [f A and B are independent:
P(An B) = P(A) P(B)

P(ANB
¢ p (a0

e P(ANB) =P (Alg).P (B)

e ANB=AUB AUB=4ANB
e P(4)=1-P(A)

e P(atleastone )=1-P(no_ )

n!

e Randomly and simultaneously: C;, =

ri(n-r)!
e Successively: with replacement Pl
without replacement i
e P(ANB)=P(A)—P(ANB)
e P(B)=P(BNA)+P(BNA,)+........
e In the case of tree:
B— B/a if the question is find P(B)
A< P(B) = P(BN 4) + (BN A)
B—~ B/A =P (B/a) .P(A) + P(B/A).P(A)
B — B/A
A/
B—sB/A
. P(A/B)=1-P (A/B)
Xi
P (Xi)
E(X) = 2x;p(x;) E(x): Expected Value.
e In the case of table:
B
Al
|
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